Answers to Exam Review for MCV 4U1  

Answers: 
1. a) 
[image: image1.wmf]6

13


b) 
[image: image2.wmf]3

2



c) 
[image: image3.wmf]1

8

-



d) 
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e) 
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2. a) 
Discontinuous at x = 2 with a hole, conditions 1 and 2 fail



Discontinuous at x = 10 with a vertical asymptote, conditions 1, 2 and 3 fail.

b) Discontinuous at x = 4 with a break, conditions 2 and 3 fail.

Continuous at x = 0.
3. a) 
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b) 
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c) 
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4. a) 
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b) 
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d) 
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      e) 
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f)  
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g) 
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h) 
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i) 
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5. a) 
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b) 
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6. a)
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b) 
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c) 
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d) 
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7. a = 6 and b = -3

8. Velocity:  
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Acceleration: 
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9. a) at rest at 1 second; position: 2 m to the right of the fixed point
b) Moving left means 
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c) velocity is constant when 
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d) 
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10. 
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13. 
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14. 
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15. Use 13.2 cm for the circle and 16.8 cm for the square.

16. 
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17. a) absolute max value is 56, absolute min value is -16
b) absolute max value is 0, absolute min value is -3
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c) absolute max value is 3, absolute min value is -3

18. a) absolute max value is 
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, absolute min value is 
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   b) absolute max value is 
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[image: image42.wmf]c) absolute max value is e, absolute min value is 0
19. a) Inc: 
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b) Inc: 
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20. 
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21. a) VA: x = 2, x = 0; HA: y = - 4; OA: none

b) VA: x = 3; HA: none; OA: y = 5x + 4
22. a) ________ b) ____________

23. 
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24. 79 N
25. 605 N, 513 N

26. a) N 86o E

b) 1 hour 5 min
27.  93 N and 80 N
28. 
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 are unit vectors because the sum of the squares of the three components equals one.
29. a) 
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b) 
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30. 90o
31. b) 
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32. a) 
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b) 
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33. a) 
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b) 
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c) 
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34. a) 
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35. a) 
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36. a) two planes intersect in a line: 
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, there are infinite solutions

b) three planes intersect a one point: (3, -2, 4), there is one unique solution

c) two coincident plane with one crossing them in a line: 
[image: image64.wmf](

)

(

)

18,11,019,11,1

rt

=-+-

r

, 
    there are infinite solutions

d) three plane are coplanar and do not intersect, there is not solution.
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